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Option A: Define -> Dbcover -> Develop -> Deliver
Option B:
Option C: Discover -> Develop -> Defirre -> Deliver
Optrcn D: Define -> Develop -> Discover -> Deliver

2. Which of these is not a usabilify goal?

Option A: E{&ctiveness
Cption B: Safety i.-t:'-jt,,.:'i"r;i-i,;.:..,.1.,.,i:'.;..,i"'...-.li{.:r'.-.r:'.iii,'.:;i",Jlf

Option C: Leamabilitv
Option D:

:+

J.

Option A: Corcept
Option B: Conceptual.-Desigr
Optbn C: Corceptual.Modei
Option D: Concephml list' .s

4.

- 

is what goes on in our heads when yrs cafly out our everyday activities.
Option A: S*brqcrb;.; : j,fJI';-" ;,"",::j..,;1.,,'::.r\:\5i..''.SF
Option B: Cbgnitbn' :
Option C:. Motivation
Option.D:, Conceptmlization

*'15"*'.'t':
+ i.a ..'1 .,;:l

using

OptionA;, Inshucting , .r-f.'i;,;t=.,';;
Ootion B: Maniir.htion
Option'C:,
Option D' ElBioring,.'ir .,,;;,,':'''," .: : ",' 

::,'r:i,-'.:

;t.1i'.6-,.1'',.-.- According to {.lID Tireory, What is piht study?
.0otion,,A snrdy Jorrc before the urain sti^dy

Option B: study done after nain sfldy
Option C: stLrdy done with nrain study
Option D: study done after fceciback

fileam to enploy different data gatherirg techniques.
Option A: TrianEulation ofdata
Option B: lnvestigator nianguhtrun

Iriangulat ion of theories

Option D: Methodologica I triangulation
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8. A Prctoqpe is ryortant as it proviCes a ..
Optbn A: MiniModel of existing System
Option B:

Optron C: Wottiog Mod"l of 
"*irtiog 

Syrt *
Option D: !q4!e 4pplied o,rly to the nervly created p --

9. Which ofthe following does not includ

Ootioa A: Support intery4l locus of confol
Option B: Permit easyrerersal acti:lns -'.: ' -- ''l.l-l-
Option C: Offer infornrative feedback --

-----Option D: Maintain the Systcm &equently

10.

Option A:  glp_glpqgjp log ists admin is tc r a q uesrionna i re
Option B: A grorp ofusability

principies
Option C: A group of test tseni condrrct a tonnat e

Option D:

':'. ::- ::i i1t' ,1.: \.
.' :r. \r: r\t .li-] \1

Q2.
(20 Marks)
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,:r:- 10 mar{is each

A
B ..:!ii €qrryare Cotkolled'Setting,,Nahnal Setring@
c ,,1..'..::,-.:

prototyping? E>phin

Q3., i

(20 Marks)
l0 mar*s each

.' ..,. .i i.f ;i"-:s Write a note,-on'I0 heuristics by Nielsen

".t.11tir*.$-;1
List yarb,s ,sabiliiy inspectbn
walktlrough technhues.

;"J,;'..G.{.;.l''<i' Descnbe in detail Cognitive Franpworkr

:: ..a'a 1 1.. \ t1.: "1: \ - ..:

1I '..:_r'.':'.'-
r..' ..:i:l ':\ -'\ -

'.:n ;: .."r -a'

ny Tuo 5 marks each
+, iri ..'Lr. Wiite a note on Good Err@

:1,..i' ,:,, ''r"'r'1l:r'- :l Explain Wr"eframe with suitable "-x,nple.
iii. What is DECIDE fiamework? Explair.'

B Solve ary'One 10 marfts each
l.: .'.:

I)eftrc rsability and ilentift the nus@
Econurrce website. Abo JmtiS,.

'lLr.. Write a note on different intervierv stybs.
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Manifestation of a desiEr that allows stakeholders to interaCt wittr it and 16-

explore is suiability

{--:, ' :. a: ira
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In a heurLtic evafuation:

A go.p cf ,:sability eiperts judge an inter€ce with a detailed checklist of
guidelines
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